Office of the Executive Engineer (JSD) PHE DIVISION

BARAMULIA

Email: kmrphebla@gmail.com (FAX) 01952234575 (Tel) 01952234244



Allotment Order No. 12 of 2023

Dated: 00-4-2023

Name of the agency/ contractor	Reyaz Ahmad Mir			
Address	Narupora Kokernag			
Registration No.	09/BEE/SE/HYD/Ang/2009			
Contact/ Email	riyazmir21179@gmail.com			
Name of work	Retrofitting of WSS Ganjipora Buran by way of Laying and fitting of Main /Submain /Distribution System at various spots (for providing 100 percent FHTC) under JJM.			
References	This office ENIT 77 of 2022 (S.No. 09)			
Accord of administrative approval No. & date	149/SE/HYD/DB/JJM of 2022-23 dated: 31-01-2023			
Advertised Cost	Rs. 15,96,268/-			
Allotted Cost	Rs. 15,96,268/- (Rupees Fifteen Lacs Ninety Six Thousand Two Hundred Sixty Eight Only)			
Time of completion	30 days			

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, the above noted work is hereby allotted to you on quoted rates given in the Annexure "A" t this allotment, on the terms and conditions given here under:

Conditions:

- 01. Time of completion is essence of the contract.
- O2. The work shall have to be started by you at site immediately & ensure its successful completion within a period of **30** days from the date of issuance of allotment from this office strictly in accordance with the approved proposals failing which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited.
- O3. An agreement shall have to be drawn up by you with the department within a period of O7 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- O4. The allotted works shall be subject to Check by the third party monitoring agency appointed by the Department.
- 05. Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly basis.
- O6. Performance security equivalent to 03% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/Bank Guarantee within one week of issuance of allotment order & Valid for a period of 03 months beyond the expiry of warranty period of the contract.
- O7. The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify the same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be



02

had a state of

recommended for further punitive action as governed under the relevant clause of the contract including black listing.

- O8. After testing and commissioning of works you shall have to make a trial run of the works for a period of 03 months during which you have to operate and maintain the executed works to the full satisfaction of the department.
- O9. The defective liability period shall be for a period of 12 months and shall commence after the successful completion of trial run.
- 10. Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- Date of start of the work within 07 days from the date of issue of this letter. However date of start for laying and fitting of pipes will start within 02 days of issuance of pipe material by the department.

12. All other terms and conditions shall be applicable as laid down in Standard bid Document & PWD form No. 25/33.

Any rules/ terms and conditions if no stipulated in the bidding document, shall be strictly dealt in accordance with the relevant rules/ guidelines stipulated in General Financial Rules (GPR-2017 and manual for procurement of works 2019 G.O.I).

Flanges involved (if any) shall only be used in case of extreme exigencies, like rocky terrain, gorge & where trench is not possible.

(Encl: Annexure "A")

No. 491-503

Dt. 11-04-2023

Executive Engineer

Tal Shakin Department APHE Division Baramulla

Copy to the :-

1/- Mission Director, Mission Directorate Jal Jeevan Mission J&K Civil Secretariat Srianagar/ Jammu for information.

2/- Chief Engineer Kashmir PHE Department Srinagar for favour of information.

3/- District Development Commissioner Baramulla (Chairperson DJJM) for favour information.

- 4/- Distt. Superintending Engineer Hydraulic Circle Bla/Bpr HQ Sopore (Member Secretary DJJM) for information. This is with reference to his authorization No: 15788-15800 Dated: 13.03.2023.
- 5/- Additional District Development Commissioner Baramulla (Member DJJM) for information.
- 6/- Assistant Commissioner Development Baramulla (Member DJJM) for information.
- 7/- Divisional Forest Officer Baramulla (Member DJJM) for information.
- 8/- Chief Planning Officer Baramulla(Member DJJM) for information.
- 9/- Chief Medical Officer Baramulla(Member DJJM) for information.
- 10/- District Social Welfare Officer Baramulla/ District Tribal Welfare Officer Baramulla(Member DJJM) for information.
- 11/- District Information Officer Baramulla (Member DJJM) for information.
- 12/- Asstt. Ex. Engineer PHE Sub Division Pattan, for information.
- 13/- File Concerned.

eProcurement System Government of Jammu And Kashmir Annexure "A"

of WSS Ganjipora Buran by way of Laying and fitting of Main /Submain /Distribution System at various spots (for providing 100

ent Ft	of WSS Ganjipora Buran by way of Laying and fitting of Plain 755 (TC) under JJM.	No.of Qty	Units	Rate	Total Amour
100	Description of Work / Item(s)	No.or Qty			
LNO		RITTO DE		ALL STREET	
	Earth work in excavation by manual means in trenches for	an all the		建筑 10 元 克克	
	foundations drains nines cables etc. (not exceeding 1.5 mm	ACCUPATION OF			
	width) and for shafts wells, cesspits and the like not exceeding	Mark Tills		The state of the s	
	10 cem on plan including dressing of sides and fallilling of				
	bottoms lift upto 1.5 m, including getting out excavated earth and	30 M 3		Constitution of the last	
	disposal of surplus excavated earth as directed:	11 2 3 11 1		A THE PARTY OF THE	
	disposal of surplus excavated earth as directed	1 102 0000	Cum	436.000	646500.
	All Kinds of soil	1482.8000	Cum		
2010					0.
	Laying and fitting of G.I. pipes (all classes) complete including				
	cost of pipe specials and excluding cost of Pipes and Earth work.			107.070	128484.
		1200.000	Rm	107.070	73050.
	100mm dia	1000.000	RM	73.050	
	65mm dia	1500.000	RM	40.800	61200.
	50mm dia	1880.000		40.800	76704.
	40mm dia	2945.000		30.650	90264.
,	25mm dia	3100.000		20.250	62775.
	20mm dia	3000.000		20.250	60750.
	15mm dia	3000.000	Kiri	Section of the latest the latest terms of the	
	Filling available excavated earth (excluding rock) in trenches,	128 2 10			
	plinth, sides of foundations etc. in layers not exceeding 20 cm in	1334.470	Cum	198.700	265159.
	depth, consolidating each deposited layer by ramming and	1334.470	Cuiii	130.700	
	watering, lead upto 50 m and lift upto 1.5 m.		i lo do avida		
					The second second
	Making connection of G.I. distribution branch with G.I. main of		A STATE OF		
	following sizes by providing and fixing Tee, including cutting and	7.000	No	666.250	4663.7
	threading the pipe etc. complete(25 mm to 40 mm Nominal	7.000	,,,	000.200	
	bore.)				
		THE RESERVE	Artificewants		TO PERSONAL PROPERTY.
	Providing and fixing gun metal gate valve with C.I. wheel of		VIEWS IN		0.0
	approved quality incl. all accessories and all carraiges complete.		A TOTAL STATE		
	25 mm nominal bore	4.000	No	543.850	2175.4
	40 mm nominal bore	5.000		704.700	3523.5
	Providing and fixing of MS surface boxes (0.75x0.75x0.75) of	1-15-15-15			3323.5
	6mm thick plate for sluice valves. The job includs fixing of angle				
	iron frame legs in cement concreate 1:2:4 mix with locking	5.000	Job	6000.000	30000.0
	arrangements complete.Including Earth work			TAX SECTION A	
			10 10 10 10 E		
	Manufacturing providing fixing of MS Bends/ Tees including				
	charges of welding machine upto site of work .To be	20.000	KG	210.000	4200.0
	menufactured as per site requirement.	THE PARTY			
	Providing fixing of 12mm thick flanges to existing G.I pipes incl.	1000			
	cost of rubber washers, nuts, bolts and including carriage of			TO STUMBER	
	welding machine & gen set involving welding at site as per the		ALDERSON STREET		0.0
	ground profile complete job.				
	100mm	10.000	Pair	1250 000	
	65mm	12.000		1350.000	13500.0
	50mm dia G.I	12.000		850.000	10200.0
	carriage of material from source to site of work by Mechnical	22.000	- ull	700.000	8400.0
	Transport including loading unloading and stacking etc.Upto 30	Diving Chillian	RESIDE.	MICHEL PROPERTY OF	State of the last
	Kms.	1 13 Carlotte			0.00
S. L.	Pipes (below 100mm dia)	20.75			0.0
		30.320	M.ton	445.959	13521.4
	100mm dia GI pipe	1200.000			

		Units	Rate	Total Amount				
Description of Work / Item(s)	No.of Qty	0	265.719	11585.348				
head load from safe dumping site to the actual	43.600		265.719	8056.600 8556.000				
site of work for an avg lead of 300mts Pipes (below 100mm dia)	30.320 1200.000		7.130	1596269				
100mm dia GI pipe Total	STEEL STATE OF			1596269				
Ounted Rate @ par of advertised cost								
Total Allotted Amount (Rupees Fifteen Lacs Ninety Six Thousand Two Hundred Sixty Nine Only)								

s & Oty checked by:

Executive Engineer
PHE Division Baramulla